GR8 FRAME COMPONENTS
Modular Tooling System Base plate

==

UNIVER GROUP

Base plate

GR8BB30 Base plate 30

55

30

y
[

20

—

]

—
13

5010,1

+ (A
€ H S5 &
o “ g “ A | 3
Tightening torque Screw “ “ ® “ T
GR8BB30 25 Nm M8x20 and M8x25 g} }? 7y
Material: Aluminium e
Weight: 0.5 kg ?Emﬂgnau
Max static load: 135Nm o

GR8BB30A Joint 30 without base

4x M8/10 depth

|
A
R N 25:11,025(} -t
o | ©
251015
55
230
Tightening torque Screw =
GR8BB30A 25Nm M8x25 46 -
Material: Aluminium
Weight: 0,17 kg
Max static load: 135 Nm

24 Subjectto change



GR8 FRAME COMPONENTS
Modular Tooling System Base plate

U

UNIVER GROUP

GR8BB45 Base plate bracket 45

245

84,75

I§

w
'_
o =
& L
r 5
| 7 &
1| 1 :
O
5010, E
o) ) =
() ()
&) 0 © i
;§ )
IECRF L S
Tightening torque Screw T IA || §|| /A ¢
GR8BB45 25Nm M8x20 and M8x25 I N
. . () A (D)
Material: Aluminium A f /4
Weight: 0,6 kg 6 Hr
Max static load: 290 Nm Thiough 3l ;

GR8BB45A Joint 45 without base

4x MBI0 depth

r}z&j),ozs{
{ O | €
> | €

254015

2x @6 H7
10 depth

35
252015

70

o

30

64,75

34,75

Tightening torque Screw
GR8BB45A 25 Nm M8x25
Material: Aluminium
Weight: 0,26 kg
Max static load: 290 Nm

Subject to change 25



GR8
Modular Tooling System

I “U(_/‘?III:\

UNIVER GROUP

FRAME COMPONENTS
Base plate

GR8BB70 Base plate 70

100

@70

118

2
&
100
750,15
Tightening torque Screw = 0O Y
GR8BB70 25Nm M8x20 and M8x25 © ¥
Material: Aluminium : @’ w
Weight: 1,26 kg 8 g =TT g
Max static load: 390 : | S @, ™~
2
© ¢ 9
\ @8 H7
Through all
GR8BB70A Joint 70 without base
W 4)}(M8/13deplh\
M 3420025 @
<4 [lo | &
s
€ ©)
342015
100
) ) \_‘,
Tightening torque Screw
GR8BB70A 25Nm M8x25 8
Material: Aluminium [ “
Weight: 0,7 kg =4 |5 I
Max static load: 390 4

26 Subjectto change



